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das Aguti 

 
3  8 =   6  9 =   5  2 =   

 7  9 =   2  5 =   4  7 =   

 5  4 =   4  4 =   3  8 =   

 6  2 =   7  3 =   9  9 =   

                   
 

 

 
 

das Chamäleon 

 
4  5 =   4  7 =   6  6 =   

 2  6 =   3  2 =   7  6 =   

 4  9 =   7  9 =   8  4 =   

 7  3 =   8  5 =   3  6 =   

                   
 

 

 
 

die Kragenechse 

 
9  7 =   6  5 =   5  6 =   

 5  8 =   7  4 =   4
 
 8 =   

 2  4 =   5  9 =   6  2 =   

 3  5 =   7  0
 
=   9  7 =   

                   
 

 

 3   = 21    4 = 16  

 
 

die Anakonda 

   4 = 32  16 =   8  

   7 = 49    3 = 27  

 9   = 72  48 = 6    
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der Piranha 

 
6  5 =   7  3 =   5  9 =   

 8  8 =   6  2 =   6  7 =   

 8  9 =   9  6 =   8  7 =   

 3  5 =   4  1 =   4  0 =   

                   
 

 

 
 

das Faultier 

 
6  9 =   5  2 =   7  9 =   

 8  3 =   5  4 =   3  2 =   

 1  7 =   9  4 =   8  5 =   

 6  7 =   7  8 =   8  6 =   

                   
 

 

 
das 

Erdbeerfröschchen 

 
2  2 =   4  4 =   6  3 =   

 1  8 =   7  4 =   3  9 =   

 2  7 =   4  9 =   3  5 =   

 7  8 =   4  5 =   6  4 =   

                   
 

 

 6   = 60    2 = 16  
 

 
 
 

der Kupferkopf 

   8 = 56  42 =   6  

   3 = 18    3 = 21  

 2   = 4  6 = 6    
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der Tiger 

 
4  5 =   6  3 =   8  9 =   

 6  4 =   8  0 =   7  2 =   

 5  2 =   3  7 =   5  9 =   

 7  4 =   9  9 =   7  6 =   

                   
 

 

 

 
 

der Tukan 

 
8  6 =   4  8 =   5  2 =   

 5  8 =   1  9 =   9  8 =   

 8  7 =   7  6 =   4  9 =   

 6  7 =   2  8 =   3  3 =   

                   
 

 

 
 

 
der Baumfrosch 

 
6  3 =   7  9 =   7  2 =   

 4  6 =   8  3 =   2  4 =   

 5  2 =   3  9 =   7  4 =   

 4  4 =   1  1 =   0  8 =   

                   
 

 

 7   = 63    9 = 0  

 
 

die Kettennatter 

   5 = 45  3 =   3  

   2 = 14    7 = 35  

 6   = 18  6 = 6    
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der Kasuar 

 
3  12 =   9  10 =    

 9  11 =   3  11 =    

 5  11 =   4  12 =    

 4  10 =   6  12 =    

              
 

 
 
 

 
 
 

der Ameisenbär 

 
4  11 =   7  12 =    

 2  11 =   5  12 =    

 3  10 =   8  11 =    

 7  10 =   10  10
 

=    

              
 

 
 

der Gorilla 

 
1  12 =   2  10 =    

 2  12 =   7  11 =    

 5  10
 

=   8  12 =    

 6  11 =   9  12 =    

              
 

 

 4   = 48    9 = 108  
 

 
 

die Grüne Hundskopfboa 

   6 = 66  96 =   8  

   12 = 60    3 = 36  

 12   = 72  24 = 2    
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der Brüllaffe 

 
5  12 =   6  7 =    

 7  9 =   7  4 =    

 3  11 =   2  12 =    

 9  10 =   1  11 =    

              
 

 

 

 
 

der Leguan 

 
6  8 =   4  1 =    

 8  5 =   6  3 =    

 10  11 =   9  7 =    

 7  12 =   10  12
 

=    

              
 

 
 

der Leopard 

 
12  5 =   12  9 =    

 4  12 =   11  4 =    

 7  11
 

=   8  1 =    

 9  8 =   9  0 =    

              
 

 

 6   = 66    4 = 48  
 

 
 

der Grüne Baumpython 

   7 = 63  88 =   8  

   12 = 84    3 = 36  

 3   = 12  42 = 6    
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der Orang-Utan 

 
1  12 =   5  11 =    

 2  11 =   6  12 =    

 3  10
 

=   7  10 =    

 4  12 =   8  12 =    

              
 

 
 

der Panda 

 
9  11 =   1  11 =    

 10  12 =   2  12 =    

 11  10 =   3  11 =    

 12  10 =   3  12
 

=    

              
 

 
der Papagei 

 
4  11 =   7  12 =    

 5  12 =   7  11 =    

 6  10
 

=   8  11 =    

 6  11 =   9  12 =    

              
 

 7   = 70    9 = 0  

 

die Königskobra 

   7 = 84  99 =   11  

   7 = 77    7 = 63  

 7   = 7  96 = 8    
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das Aguti 

 
3  8 = 24  6  9 = 54  5  2 = 10  

 7  9 = 63  2  5 = 10  4  7 = 28  

 5  4 = 20  4  4 = 16  3  8 = 24  

 6  2 = 12  7  3 = 21  9  9 = 81  

                   
 

 

 
 

das Chamäleon 

 
4  5 = 20  4  7 = 28  6  6 = 36  

 2  6 = 12  3  2 = 6  7  6 = 42  

 4  9 = 36  7  9 = 63  8  4 = 32  

 7  3 = 21  8  5 = 40  3  6 = 18  

                   
 

 

 
 

die Kragenechse 

 
9  7 = 63  6  5 = 30  5  6 = 30  

 5  8 = 40  7  4 = 28  4
 
 8 = 32  

 2  4 = 8  5  9 = 45  6  2 = 12  

 3  5 = 15  7  0
 
= 0  9  7 = 63  

                   
 

 

 3  7 = 21  4  4 = 16  

 
 

die Anakonda 

 8  4 = 32  16 = 2  8  

 7  7 = 49  9  3 = 27  

 9  8 = 72  48 = 6  8  
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der Piranha 

 
6  5 = 30  7  3 = 21  5  9 = 45  

 8  8 = 64  6  2 = 12  6  7 = 42  

 8  9 = 72  9  6 = 54  8  7 = 56  

 3  5 = 15  4  1 = 4  4  0 = 0  

                   
 

 

 
 

das Faultier 

 
6  9 = 54  5  2 = 10  7  9 = 63  

 8  3 = 24  5  4 = 20  3  2 = 6  

 1  7 = 7  9  4 = 36  8  5 = 40  

 6  7 = 42  7  8 = 56  8  6 = 48  

                   
 

 

 
das 

Erdbeerfröschchen 

 
2  2 = 4  4  4 = 16  6  3 = 18  

 1  8 = 8  7  4 = 28  3  9 = 27  

 2  7 = 14  4  9 = 36  3  5 = 15  

 7  8 = 56  4  5 = 20  6  4 = 24  

                   
 

 

 6  10 = 60  8  2 = 16  
 

 
 
 

der Kupferkopf 

 7  8 = 56  42 = 7  6  

 6  3 = 18  7  3 = 21  

 2  2 = 4  6 = 6  1  
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der Tiger 

 
4  5 = 20  6  3 = 18  8  9 = 72  

 6  4 = 24  8  0 = 0  7  2 = 14  

 5  2 = 10  3  7 = 21  5  9 = 45  

 7  4 = 28  9  9 = 36  7  6 = 42  

                   
 

 

 

 
 

der Tukan 

 
8  6 = 48  4  8 = 32  5  2 = 10  

 5  8 = 40  1  9 = 9  9  8 = 72  

 8  7 = 56  7  6 = 42  4  9 = 36  

 6  7 = 42  2  8 = 16  3  3 = 9  

                   
 

 

 
 

 
der Baumfrosch 

 
6  3 = 18  7  9 = 63  7  2 = 14  

 4  6 = 24  8  3 = 24  2  4 = 8  

 5  2 = 10  3  9 = 36  7  4 = 28  

 4  4 = 16  1  1 = 1  0  8 = 0  

                   
 

 

 7  9 = 63  0  9 = 0  

 
 

die Kettennatter 

 9  5 = 45  3 = 1  3  

 7  2 = 14  5  7 = 35  

 6  3 = 18  6 = 6  1  
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der Kasuar 

 
3  12 = 36  9  10 = 90   

 9  11 = 99  3  11 = 33   

 5  11 = 55  4  12 = 48   

 4  10 = 40  6  12 = 72   

              
 

 
 
 

 
 
 

der Ameisenbär 

 
4  11 = 44  7  12 = 84   

 2  11 = 22  5  12 = 60   

 3  10 = 30  8  11 = 88   

 7  10 = 70  10  10
 

= 100   

              
 

 
 

der Gorilla 

 
1  12 = 12  2  10 = 20   

 2  12 = 24  7  11 = 77   

 5  10
 

= 50  8  12 = 96   

 6  11 = 66  9  12 = 108   

              
 

 

 4  12 = 48  12  9 = 108  
 

 
 

die Grüne Hundskopfboa 

 11  6 = 66  96 = 12  8  

 5  12 = 60  12  3 = 36  

 12  6 = 72  24 = 2  12  
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der Brüllaffe 

 
5  12 = 60  6  7 = 42   

 7  9 = 65  7  4 = 28   

 3  11 = 33  2  12 = 24   

 9  10 = 90  1  11 = 11   

              
 

 

 

 
 

der Leguan 

 
6  8 = 48  4  1 = 4   

 8  5 = 40  6  3 = 18   

 10  11 = 110  9  7 = 63   

 7  12 = 84  10  12
 

= 120   

              
 

 
 

der Leopard 

 
12  5 = 60  12  9 = 108   

 4  12 = 48  11  4 = 44   

 7  11
 

= 77  8  1 = 8   

 9  8 = 72  9  0 = 0   

              
 

 

 6  11 = 66  12  4 = 48  
 

 
 

der Grüne Baumpython 

 9  7 = 63  88 = 11  8  

 7  12 = 84  12  3 = 36  

 3  4 = 12  42 = 6  7  
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der Orang-Utan 

 
1  12 = 12  5  11 = 55   

 2  11 = 22  6  12 = 72   

 3  10
 

= 30  7  10 = 70   

 4  12 = 48  8  12 = 96   

              
 

 
 

der Panda 

 
9  11 = 99  1  11 = 11   

 10  12 = 120  2  12 = 24   

 11  10 = 110  3  11 = 33   

 12  10 = 120  3  12
 

= 36   

              
 

 
der Papagei 

 
4  11 = 44  7  12 = 84   

 5  12 = 60  7  11 = 77   

 6  10
 

= 60  8  11 = 88   

 6  11 = 66  9  12 = 108   

              
 

 7  10 = 70  0  9 = 0  

 

die Königskobra 

 12  7 = 84  99 = 9  11  

 11  7 = 77  9  7 = 63  

 7  1 = 7  96 = 8  12  
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